Key concept practice

Upgrade practice

* New Currlculum fr

easy reference and use.

~ Exercises

4

«NEW

The content fully complies

with the latest curriculum guide

from the Education Bureau.

4K Each book has 18-23 exercises, sequenced according to mainstream textbooks for

’ Each exercise comes in a clear and systemcn‘ic structure with 3 sections:

. i:i Level-up questions and y-.. N public exam questions are included, encompassing

advanced questions and the common question types in public exams.

questions or revisiting concepts learnt in previous years.

and application.

Explicit answers 4K The answer key offers three kinds of explanation:

Solutions with Steps

D [ Ronald walks: 50— 1.5 x20=20m
Average speed of Ronald: 20 ~20 =1 m/s ]

Mum Ronald

1.5m/s x20s 27m/s x 20 s
> < &

| e

50 m

+/ Concept Review
v/ Common Error

MCQ Options Analysis

Wrong

alhoton Reason

Mistakenly regard 50 m as the distance

A walked by Ronald. Therefore, wrongly
write the expression as 50 + 20 = 2.5.

Mistakenly regard the distance from Mum’s
speed is the distance walked by Ronald.

Therefore, wrongly write the expression as
(1.5 x 20) +20=1.5.

4 There are ¥ Useful Tips and &3 Quick Reminder in the exercises, providing skills for solving

4K Cross-topic Exercise is added to strengthen the ability of knowledge infegration

4 ‘Inquiry and Investigation’ in the latest curriculum: Challenging Problems
are included to respond to the needs of the new curriculum.

{ The book includes two assessment tests and a final assessment.

49X Concise Revision Notes listing key concepts and formulae are provided.

Explanation of
Common Mistakes

12 [15+75%60 =12 ]

Common mistake: fl.—’x

e Neglect that the unit of the answer i1s minutes. To

get the correct answer, we should x 60 to convert
hours to minutes.

. The jumper is sold at 250 dollars.

Costs
more

jumper $ 250

FE——

It is 150 dollars more expensive than the scarf.
Mum wants to buy a jumper and three scarfs.

How much does she have to pay?

scarf $ 250-150

250 + (250 — 150) x 3 =550
Mum has to pay 550 dollars.
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Public "
Exam
Question

and "Cross-topic Exercise"

Adds "Inquiry and Investigation: Challenging Problems"
in the latest curriculum

‘ Provides detailed explanation in the answer key:

* solutions with steps * MCQ options analysis

% common mistakes

+ |« Short videos explaining concepts and
' highlighting common mistakes
e Concise revision notes
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